WRITE YOUR NAME:

MAC 2313 Quiz 23
Thursday April 18th

Calculate the flux of the vector field
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across the curve €, where C is the triangle bounded by the lines z = 0,

y=1,and z =2y (’t aversed counterclockwise). C(OSed curve (0,[) "'I (2,1)
Most ¢ficient method: ol Saza

Use Dl\léfj&nce +orm of Gieen's Theolem, (v,0)
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METHOD 2. Calculate flux d;recffg asf M dy — Nex

C = Cuc,vig
C,0 (0,0) b (2,1): (x,0)=(2t,4), O4EEL =24t dy =t

Co? (2,0) 0 (0,1): (x,y)2-2,1), 0%¢21, == 24¢, dy =0
cet (0,00 (00) (x,9)= (0,1-8), 0241, dx =0, dly = ~dit

Flux fc Mdy —Ndx +fc Mdg = Nex +£ Mdy — Ndx
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Then write 6v@(j+hif\j inTetms of T and evaluate



